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SF6ETA1BIRAE

BTH% Hit =i B&Et HEE
JIE Hh X /NG 984 1,044 2,028 938
I 0 0 0 0
JNE—TH 287 300 587 282
JNBE=TH 282 272 554 264
JIE=TH 219 226 445 209

g™ T B 184 202 386 150
HEEMA 12 44 56 33
R/ X /e 1,821 1,931 3,752 1,925
f/## 12 53 65 65
H/##—TH 343 377 720 360
E/#8-TH 511 512 1,023 517

H/#=TH 555 558 1,113 538
H/##HETH 400 431 831 445
P X /NET 202 229 431 241

H 202 229 431 241

MHBEE X /NG 4,273 4,439 8,712 4,205
#EAE5—TH 1,157 1,031 2,188 1,149
#HEBAA-TH 1,442 1,536 2,978 1,358
#WEAE=TH 1,389 1,533 2,922 1,384
#EASMNTH 285 339 624 314
SHT Hh X /NET 2,542 2,404 4,946 2,659
XHET—TH 1,148 1,058 2,206 1,197
XET-TH 1,394 1,346 2,740 1,462
XET=TH 0 0 0 0
ko B R/ 3,252 3,028 6,280 3,127
&y E—TBH 637 635 1,272 654
¥ByE=TH 794 799 1,593 756
#rE=TH 389 359 748 375
HoyEMTHB 637 534 1,171 572
sy ERTH 795 701 1,496 770
ESNE = 483 457 940 449
EN—TH 104 113 217 101

EJN=-TH 379 344 723 348




ADO#gEt R ERTIE)

SF6ETA1BIRAE

BITEH% Hit =i B&Et HEE
ETREMR/NE 2,077 2,001 4,078 2,183
EXRFE—TH 1,084 1,080 2,164 1,088
ETRE=-TH 965 886 1,851 1,071
EXRFE=TH 28 35 63 24
FEH X /NG 1,637 1,621 3,258 1,610
FE—TH 745 745 1,490 803
PE-TH 274 296 570 268
PE=TH 618 580 1,198 539
Pt X /NET 1,845 1,861 3,706 1,674
Fh—TH 412 420 832 391
FHR=-TH 609 590 1,199 542
FHh=TH 539 568 1,107 509
PHEmTH 285 283 568 232
PhnEM X /T 2,136 2,113 4,249 1,865
FmxE—TH 662 645 1,307 628
FMEZTH 514 536 1,050 485
FME=TH 535 502 1,037 396
PmEMTH 425 430 855 356
P X /NGt 1,475 1,328 2,803 1,203
FFE—TH 699 629 1,328 585
FE_TH 387 335 722 316
FE=TH 389 364 753 302
WERTHE X /M ET 1,448 1,400 2,848 1,266
WERT—TH 60 46 106 52
MERTZTH 1,001 971 1,972 851
NER=TH 387 383 770 363
IMEE X /T 3,204 2,914 6,118 3,331
IMEE—TEH 450 418 868 516
IMEEZTH 789 629 1,418 848
IMEE=TH 675 633 1,308 675
IMEETTH 454 440 894 460
IMEERTH 836 794 1,630 832

=&t 27,379 26,770 54,149 26,676




